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Topic:- Child Development & Pedagogy (CDP)

1) Autistic children mainly have difficulties in ____. / aeiiaT (3fifefRe®) T # @) BfeE gt g1
1. Vision / €f§

2. Intelligence / @

3. Social interaction /me

4. Body movement / TRR Tfarierdrn

Correct Answer :-

o Social interaction / grATfoIe Yudh

2) Applied Behavior Analysis is considered to be a more effective remedial method for:/

Sy g fIRAur fA & fore ue siftres yuTdt SuaRTEe fafy 9T o 8:
1. Dyslexia/ f&xaifaRmar

2. GDD /SiiSta!

3. ADHD / TSIT= S

4. ASD/ TTHS!

Correct Answer :-

- ASD/ TuHg!

3) Which of the following is not true about the team teaching method? / e ﬁT&fUI tl?s{ﬁ HARH ﬁ'ﬂﬁl‘@'ﬁ -k | B qId H’E.‘T%"

1. Difficulties are faced in maintaining harmony among team members / ks W & oI e CRIlY G H m’q}f hT JHAT HIAT gsdl %I
2. It is cheaper than other methods of teaching in terms of finances / Ug fa® W’J-f =i Rreror & 3= fafiay o1 LKL o & %I

3. Teachers get better opportunities for optimal utilization of human resources / HIHd Ty & Farad SUANT & ﬁ'ﬂl Rrempt @1 QBFR 3aeR fired %I
4, It is a highly flexible method of teaching in terms of scheduling /T8 Tg-FuRor & T & fremr w1 uw Id Tl RiBT |

Correct Answer :-

o It is cheaper than other methods of teaching in terms of finances / dg o & e o freor & s fafday ot R TRl

4) Which of the following elements is there in problem-solving skills?/ fafafaad d P T FAT- R S @ gRfie %?
1. only the steps to reach the goal / FId qed ISP t@\%ﬁ ¥ T

2. only the goal /WH&H

3. only the problem / FHId gaR

4. all of the above/ JURIaT T+

Correct Answer :-

« all of the above/ STRIad Tt
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A child thinks that because he wants to have pizza for dinner, his parents must want it too. What type of thinking is this? / T dl e % f& q;ﬁ?
I8 ¥d & WH F e fre arear €, 9 39 Arar-far &1 1t 7€t aie) g8 59 yeR 3 6 82

1. Meta-cognitive thinking / ST (Hel-HHTAD) fid=
2. Egocentric thinking / i GRw®) fiaT

3. Abstract thinking / G{FLE‘f R

4. Psychotic thinking / ARG (AR®ITcH) fid

Correct Answer :-

« Egocentric thinking / @& fsd @Gi<®) RiaT

6) Learners learn best when / ﬁT&ﬂ%ﬁW 3t ae Jraa % od__

1. they listen to the teacher and obey all classroom rules. /3 e ot a1 ﬁq?f %’ 3R e b g ! o1 uTe BRd %I

2. they understand the lesson and write good notes. / 3 o ot wsq?r % G'ﬁT 3y :ﬁwﬁﬂaﬁ %I

3. they understand the relevance and are motivated to achieve the learning goal. / 3 Uriferar & wm?r % 3R R & eI B UT B & ﬁ«nq ﬂﬂaaﬁ %I
4. they follow all rules and are quiet in class. / 3 gt At o1 U FRa % 3R DET H =z Q_E!?f %I

Correct Answer :-

« they understand the relevance and are motivated to achieve the learning goal. / 3 UrfEmar &1 T-I'Hglﬁ % 3R ST & &I D) U B B 1%111 ﬂﬁ—dsﬁ %I

7) The seat of Intelligence in human brain is

1. Brainstem / ST

2. Cerebellum / WW (@Iﬁc_cﬂ:l)
3. Cerebrum / VTS (@m

4. Spinal cord / FHGUS (WTSA Bls)

Correct Answer :-

. Cerebrum / TARKTSH (@i@lﬂ)

8) Which of the following is the best way to increase correct responses and appropriate behavior? /
et ufafraraii ok 3fud aeR &t 9gM & e Fafafe # & o9 9aw s afie1 32

1. Punishment / 8

2. Praise / Uil

3. Ignorance / 3Tl

4, Strictness / T

Correct Answer :-

« Praise / URET

9) Which method is used commonly for the diagnosis and treatment of behavioral problems of exceptional children? /
SRTYRY o1 &1 PR At wowarsi & Far ofik STar & fig smdk W fw fafl o1 Suah fvar simar @2
1. Survey method / aeror fafey

2. Case study method / Hg el fafy

3. Observation method / ﬁﬁ&‘FUT fafdr

4. Experimental method / TARTIE® fafer
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Correct Answer :-

« Case study method / &9 el fafy

10) Which approach believes in teaching reading based on sounds? / g} & YR W U64-UT3 A I IT =P fayrg srar g2
1. Analytical / fa=eoTET®

2. Syllabic/ Jr&gI=T

3. Global / il

4. Phonic / BIfA®

Correct Answer :-

« Phonic / BifF®

11) According to Thompson, children can identify their own gender by the age of/ YT & SR, T 3vA WY & i i UgdH g9 39 I
|4

1. Five years / Ui EL
2. Two years / aray

3. Four years / AR CL
4. Three years / day

Correct Answer :-

e Three years / dHad

12) What is the term used to describe a person’s tendency to remember positive rather than negative experiences?/
APRIAS AFYA! b T TPRIAD I1E 3@ & g fondt safea 91 wafRy &1 avf= w7 3 5w ug &1 Swaiw far siman 82
1. Rehearsal effect / u@fwrﬂ EEIC

2. Retroactive effect / ‘{c{EITd:T\;mIH

3. Lightbulb effect / dligcded YHTT

4. Pollyanna effect / I gHTd

Correct Answer :-

¢ Pollyanna effect/ Tiefa uyTa

13) What type of memory is sometimes referred to as nondeclarative memory? /

5T TR Tt Ffa ! FU-FUR revuTare Tfa F = § ST SI1ar 22

1. Autobiographical memory / AR (ficIaRIEbEH) Fid

2. Factual memory / JHTHED @jﬁl
3. Short term memoryﬂ%—ﬁ?ﬁ:{ F{ﬁf
4. Procedural memory / uﬁ»‘quf?l

Correct Answer :-

« Procedural memory / UfhaTc® Wfd

14) An assessment that is carried out throughout the course is called ./
g ATHA Sl G UTSUshH & SR fHarwman g, EZIGIE
1. Formative assessment / YIATHD 3{Th

2. Summative assessment / WW
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3. Diagnostic assessment / Wﬂ@m

4, Initial assessment / YR ATHe

Correct Answer :-

« Formative assessment / IdTHD b

15) Which of the following is not a form of bullying? / Fafaf@a & & P T IGHTRN BT TS =Y 81 872
1. Teasing other children / 3= | B @E:ﬂ

2. Pushing other children / 3 T DI YD1 &l

3. Mutual exchange of lunches / &9 &1 URTIRG 3ieal-gaal

4, Insulting other children / W Tl BT SHIAM AT

Correct Answer :-
« Mutual exchange of lunches / @@ & RTINS 3fGal-aaar

16) Which of the following clinical procedures are based in part on classical conditioning?/

Frafafea & & o= @ Aatre ufsan siea SSRET W snurid 32
1. Token economy / Eﬁm E_Gbﬁqﬁ

2. Two chair techniques / § R qHD!

3. Transference/ RITICRUT

4. Systematic desensitization / IR ﬁ'ﬁ'ﬂm

Correct Answer :-

« Systematic desensitization / TR ﬁﬁ'ﬂm

17) Which chromosome is responsible for determining that the child is born male? /

B A1 URE 9% Frufa w3 F e Iwrerd gian & % a=n R tergan 82
1. Y chromosome /'Y UT
2. C chromosome / C IR
3. L chromosome / L 7RI

4. X chromosome / X T[URTA

Correct Answer :-
e Y chromosome / Y T[UR[A

18) If a child has no problems with any schoolwork other than reading and writing, what could he be diagnosed with? / gfe f=dt T B ‘Ta'-_.-‘ 3R formm

P 3rarrar et 3 Tpd B B B THT T B, < I fpad Fefia fvar s awar g2
1. Learning disorder / 3f8RTH fd®R

2. Communication disorder / §aR fd®R

3. Mental retardation / HIFRIeh Hedl

4. Intellectual disability / NG Sf&raT

Correct Answer :-

« Learning disorder / 3T AR

19) A child searches for an object where they previously found it even after they know it moved to another location. This approach is seen because of

limitations relating to ./ U ST U Uit g 1 WIS 3T 8, 981 3 U 39 gy VM IR A T & a1 ot urd €1 98 ef¥aior J
Taiftra Hiwmei & R @ S g
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1. Attachment/ AR (&Iéaﬁa
2. Egocentrism/ T ( BRI et

3. Conservation/ FR&UT

4. Object permanence / 9% A
Correct Answer :-

» Object permanence / 9¥g R

20) Who developed a Psychosexual theory of human development from infancy onward? / AgraraRT I WWWW W;ﬁaﬁ'ﬂ?ﬁ’[&'ﬁ o
faofra forar?

1. Erik Erikson / TR $RIH

2. Piaget / et

3. Sigmund Freud / R s

4. Vygotsky / a@ﬂa%‘)r

Correct Answer :-

e Sigmund Freud / R s

21) The concept of intelligence is more related to: / difg® sryrRon m Sifere weifta @
1. Concrete thinking /Wﬂd’{ﬁﬁﬁ:{

2. Intuitive thinking / T fd

3. Rational thinking / ThETd fefd=

4. Emotional thinking / YTaTe fa

Correct Answer :-

« Rational thinking / GERUCACKE]

22) Rorchach ink blot test consists of / TR WTET BT YSIT ULT&0T - & 911 Gl &:
1. 10 black cards and 5 coloured cards10 / T TxY 3R 5 T Ty

2. 10 black and 10 white cards / 10 BTel 3R 10 TG T

3. 5 black and white cards and 5 coloured cards/ 5 PTG 3R Thg U=l 3R 5 T U=t

4. 10 multicoloured cards 10/ E@T"ﬁqﬁ

Correct Answer :-

« 5 black and white cards and 5 coloured cards/ 5 BT 3R Tthe T 3R 5 T T

23) When failures are punished during childhood, it leads to ./ 99 A qEaarsi & fore suua & SR dfea frarwrar 8, dY ug PR A
ST

1. Negative reinforcement / Wgﬁw
2. Encouragement / m
3. Persistence / 8O

4. Learned helplessness / ST faa=ran

Correct Answer :-

« Learned helplessness / ST faa=ran

24) Maturity affects learning because it impacts -/ ufeuear siftRTa &t yutfad st % Fife g8 fr=1 W yuTa steran %:
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1. Motor skills/ TR SHI=TA

2. Readiness/ ddxdl

3. Cognitive capabilities/ ST &dTaf

4. Both motor and cognitive skills/ T FleR 3R IHTHS DI
Correct Answer :-

» Both motor and cognitive skills/ I HieR 3R IS BT

25) According to the Social Learning Theory, there are 4 necessary conditions for effective modelling.
Attention, retention and reproduction are 3 of these conditions.

Which is the 4™ condition? /

[T AT RYgia & SRR, TUTd! ATS oAt & 1T 4 Sma=y® 24 €1

T, FTYROT SR U= 4 3 T 5 1

EIIRICE S f

1. Situation / fRuf

2. Attraction / 3THHUT

3. Imagination / Ul

4. Motivation / JRUTT

Correct Answer :-

« Motivation / JRUT

26) Creating positive classroom culture falls under the domain of : /Wﬁi&ﬂmiﬂmm 833[%7 GHTTTT STdT %:
1. Social need /FTHT%FIF ST hdl

2. Affective need / HIdTHD TARIDH AT

3. Psychomotor need /’H‘hﬁ@ﬂﬁ HIARGhdl

4. Cognitive need /IRITHD HTARID T

Correct Answer :-
o Affective need / HIATHD AHTAGhdl

27) Which of the following can be described as a positive reasoning style for failure in achieving success? /ﬁ'ﬂﬁ‘l’@ﬁ A T T el U B |
APl P I TP YPRIAP dP W5 P ¥U A 9fd H Jba1 82

1. Environment problem /WW
2. Medical and Psychological Reasons /ﬁ[ﬁﬁ\"ﬂ aﬁ?mﬁmﬁmw
3. Difficulty in wriﬁng/ﬁ@?ﬁw

4. Lack of Motivation and Interest to put efforts / YHId S El %ﬁl@ﬂw 3R B BT UG

Correct Answer :-

o Lack of Motivation and Interest to put efforts / UHId S E| %ﬁ'ﬂlﬁ@ﬂ 3R B BT 3T

28) Some parents do not explain the rules but force the child to adhere to them at any cost. This type of parenting is known as:/

gmngmﬁmﬁuﬁaﬂmqﬁmﬁ%’ﬁﬁﬁraﬁaﬁﬁnﬁmmwmwmﬁ%mwmﬁﬁlsvmaﬁﬁﬁﬂaﬁﬁn:rwﬁm
EIGIGH

1. Permissive Parenting / W tRf
2. Uninvolved Parenting / ST R
3. Authoritative Parenting / MRepTiRe TRfe
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4. Authoritarian Parenting/ TITaTg] URfET

Correct Answer :-

» Authoritarian Parenting/ Famare Wi

29) Studies in human development take into consideration the period from: / A4 fd®T g & 3reag 39 3afy & ta= § @1 &
1. Conception to adolescence / e ¥ freiRmaRT

2. Birth to adolescence / ST ¥ fHIRTaRIT

3. Birth to death / 57 ¥ FRUT

4. Conception to death / mﬁ%nq%qag

Correct Answer :-

« Conception to death / Ui g

30) CANCELLED

What is the full form of MBIT?/ THSI3TSd} %1 quf & o &2
1. Myers-Briggs test instructions / oo oter e

2. Myers-Briggs type of indicator / oo U R Thde

3. Myers-Bricks type of indicator / - TR Yahdd

4. Myers-Bricks test instructions / - forer wten e

Correct Answer :-

e Myers-Briggs type of indicator / - UhR Tohdd

Topic:- General Hindi (L1GH)

1) PR A A R aa®
EHA 31 B giard,
forut forery 33 95t fopot
a7 Y T Ioreh ST ¢
PSP RRNTFAR

fea afa ofir 8 w1 ges,
TS 3 T W FHT g
a4 #1 R fefa e was|
Auifera-<ft et agen
SefY St g & are,

3RER TS P A B
febfesTorat & =iuT=mel I3g< ofi-t S T,
A, B eRTH wiie I
Hrerm ot S, A= et
¥ S pal § Rafera

&9 8 i e @S
TEwe et < aeat
Biftrar, fyurg fia gt
fopeelt & or ¥ Y forareht
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TP Hal W Gy,

T v 8 ot v

39S el A gl W

o 7Tg ueriwr @Y yg? Y YR WA 91 URA $7 I« Ia1s¢l

YT §A1 % Fiid A o Bl T STell A gast STeit &Y ga & af S avrar 82
1. AP AT IS MR &N

2. 9aTE G@ B B

3. S 3 IR ST

4. 99 3 =N A o T WA G|

Correct Answer :-

< SR 3G @ B e qEr B |
2) Foft @el A gr da®
TEHT B HIAF g,
fRradt forerst 33 3t ot
a7 @t T Ioreht STl ¢
A FRVWTFAR

feer o R 8 To1 T,
TTHT Y q W Gl gl
T4 &1 R fefa e wae )
Auifera-<ft et agen
St <t A A aredt,

3REY TS B HA B
fpfesforat & evmmedt|
It i+t dare T,

i, gRa tRT A il 7@
Hem ot e, AH=h e
& F gl § frafia

£ W afEar aer @ |
Tyawe ufedl i dest
Biftrar, fyurg e gt
fopect & ¥or ¥ 6t forareht

[ F Fal R v,

Fa firva g o wad

35 33 gal A gl W1

T TG w=IiE ) UgT Y IR oM aTe URA T I qarsul
U Wl § gR o o1 et g5 82
1. TR g3 MY

2. WAGUHS

3. it @ FRawelt 9reR
4. foaferdi & g

Correct Answer :-

. giearelt ot Tawe areR
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I FRVNTAR

foer afa R B @1 w1,
ATHA 3 T W GBI G
T4 &1 R e e waw)
it adt agen

ST St g & are,

3REX IS B I P

T Torat § =iwm=mmett|
It i derre Ty,

W, B oRT S Fiie I
e 3t i, R Fie
¥ S wal A Rafera

&9 7w Aer @
gl Afeat ot geat
Biferat, fsurg fiw wgh
fopvelt § &1 F ot et

T & Gl R gy,

T v 8 o v

ST TS A A A W

o T eriwr Y ygws R U@ WA 91d Uk B I« ga1s¢l
A Wigeh- Rt R B 30 gare fsTan veta gar 82
1. N &1 ferat

2. ST Il

3. Tpfeed faram

4. et e e

Correct Answer :-

. e e s

I FRVNTAAR

foer afa R B @1 9o,
TS 3 T W GBI G
T4 &1 R e e was)
it Tt agan

ST St g & are,
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3REY TS B AR BT

fpfenforat & 2Mememedt |

It i ST Ty,

W, B oRT S wiie I

e 3t e, R et
181 % gl & fafa

9 ¥ wiar Aer @
e afedt W aet
ST, fyurg fia @t
fOpelt & ¥ ¥ Y foyeredt
TS Fal W g,

Tt fid f o v

I FAAGARI

T T Terie @t ygwT 2 IR O aTa U BT Ik qarsul
e W-faht el e el w Sed it 2
1T F Fal W

2 B Edid

3. TR & Wi §

4. ARG U R

Correct Answer :-
. TAWFHA R

I FRVNTAR

foer afa R 8 we1 9o,
THA 3 T W GBI G
T4 &1 R e e waw )
it adt agan
el St 9 & e,

3REX IS B I P
T Torat § Tiwm=mmett|
It i detret Ty,

0, g oRT A Fiie I
e 3t e, R i
¥ S wal A Rafera

& 7w Aer @
gl Afeat ot geat
Biferar, furg fiw gt
fopvelt § &1 ¥ @t et
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TP Hal W Gy,

o ftrva g o wad

39S gell A gl W

o 7T eriwr @Y yge? Y YR WA 91 URA &7 I« Ia1s¢l
A WeX 0 fraat e e vwr s da @ @2

1. & A DI T8

2. TR TI P dRE

3. T &R HR 3 TRE

4. O GReTt Aema o ofedl Hf e fRwr s g @ §

Correct Answer :-

. ON Ofeat mand ot ofedl & i fovm wR ga I §
6) Wolt @al # R daH
TEHT B HIAE g,
Rradt forerst 33 3t ot
aTEY @t T Ioreht STl ¢
A FRVWTFAR

feer e R 8 To1 T,
TTHT Y q W Gl g
T4 &1 R fea e was )
JAwifera-<ft et agen
St <t A A qredt,

3RET TS P HA B
fpfesforat & evmmedt|
It i+t dare T,

i, gRa T A il 7@
Hem ot e, AHh e
& F gl A frafia

£ W A aer @ |
wawel et < aeast
Biftrar, fyurg e gt
fopeedt & or ¥ 6t forareht

[ F Fal R v,

Fa firva g o wad

3§ I geil & el W

T TG wRIiE ) UgT Y IR 9 aTe URA T I qaTsul
WH: o & ¥ 8X @ IR T 9 Ve 82
1. g8 ufar

2. WHA

3. gRA ¥R

s wfegiaa

Correct Answer :-

- gRa 3R
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I FRVNTFAR

foer afa 3R B @1 9o,
TS 3 T W GBI G
T4 &1 R e e waw)
it adt agen

ST St g & are,

3REX IS FI I P

T Torat § =iwm=mmett|
It i derret T,

W, B oRT S Fiie I
e 3t e, R i
¥ S wal A Rafera

&9 7w Aer @
Tl et < deat
Biferar, fsurg fia gt
foreelt & 1 ¥ Y Rt
TS Fal W g,

Tt i g ot v

ST TS A A A R

o 7T eriwr @Y ygws R U@ WA 91 URA BT I« ga1sel
U 59 Sfaar A fra diam & digd srav ¥
1. RRG Hg

2. q8d Bg

3. 3Hd B

4. U g

Correct Answer :-

I FRAVNTAR

foer afa R B @1 9o,
TS 3 T W GBI G
T4 &1 R e e was)
it adt agen

ST <t g & aret,
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SRER §E Bt WA Bt

fpfenforat & 2Mmemedt |

It i ST T,

W, B RT S wiie I

e ot e, A= et

¥ d par d Rafera

9 ¥ Wi Aer @

TEwel et < aeat

Sftra, Ryurg fw wr

foreelt & o ¥ 6t forareht

TS Fal W g,

Tt i f o v

I FAAARI

o g veriwr Y g R U@ 9 91d U B IwR a1s¢l
7= TR & N pa fPe R F TR AR @R &
1. Hiew

2. TR

3.0

4. WS

Correct Answer :-

I FRVNTAR

foer afa R 8 o1 9o,
ATHA 3 T W GBI G
T4 &1 R e e waw )
it Tt age
et St 9 & e,

3REX IS B I P
T Torat § =iwm=mmett|
It i derre T,

0, B oRT S Fiie I
e 3t e, R Fie
¥ S wal A Rafera
&9 7w Aer @
gt Afeat ot geat
Biferar, fsurg fia gt
fopvelt § &1 F @t et
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TP Hal W Gy,

o firva g o wad

39S el A Al W

o 71T ueriwr @Y yge? Y YR WA 91 URA $7 I« Ia1s¢
ug: forad aferat 3 oA & et @it @ iR @ W 22

1. & A DI TE

2. Ff SR IEH

3. 4 3R Tap |

4.9 SIRIEH

Correct Answer :-

. SHSRAEH

10) elt @ A R qo®
TEHT B HIEF g,
Rradt forerst 33 3t ot
a7 @Y T Ioreht STl ¢
A FRVWTFAR

feer o SRR B To1 For,
TTH Y e TR Gl gl
T4 &1 R fea e wae )
Awifera-<ft et agen
St <t A A qredt,

3REY TS P HA B
fpfesforat & 2vmmedt|
It i+t dare T,

i, gRa T A il 7@
Hem ot e, Ah e
& F gl A frafia

£ W A aer @ |
Tyawe ufedl i dest
Siftrar, fyurg e gt
fopeet & or ¥ 6t forareht
[ F Fal R v,
Ta firva g o wad

35 33 gal 4 gl W

T T wRIiE @)UY Y IR 9 aTe URA T I qaTsul
Uz frae fel Bt 3ot el gy R @ @2
LIS P

2MEH

3. &

4. IRRF

Correct Answer :-

. AP


https://applink.adda247.com/d/XhqWf9lSap

e
Google Play

11) Fh AN A R a@®
TEH F B ST,
ferat forary 39 95t fepwot
aiE) Y <t Soreft wredt !
I FRVNTAR

R aRa ¥R @ o1 9o,
ATHA 3 T W GBI G
T4 &1 R e e waw )
it adt agen

ST St g & are,

3REX IS B I P
fefeTorat § 2iwm=mmett|
It i derre Ty,

0, B oRT S wiie I
e 3t e, R i
18 % gl & frafa

&9 7w Aer @
gl Afeal ot geat
Biferat, fsurg fia awgh
fopvelt § &1 F @t et
TS Fal W G,

Tt i g ot v

ST TS A A A W

o g eriwr Y ygws R YS9 91 URA $7 I« ga1s¢l
UTT: 3RET 3R T TYUT B T 975 qGT 8 82
1. U

2. TH HTER

3. fofesar

4, BRYAT

Correct Answer :-

o B!

12) et @A A R aw@®
TEH F B giaTer,
feradt forary 39 95t fepwot
TS P <t Sereft wiredt 1
I FRVNTAR

foer afa R B @1 9o,
TS 3 T W GBI G
T4 &1 R e e was)
it adt agen

ST St g & aret,
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SRER §E Bt WA Bt

fpfenforat & 2Mmemedt |

It i ST T,

W, B RT S wiie I

e ot e, A= et

¥ d par d Rafera

9 ¥ Wi Aer @

TEwel et < aeat

Sftra, Ryurg fw wr

foreelt & o ¥ 6t forareht

TS Fal W g,

Tt i f o v

I FAAARI

o g veriwr Y g R U@ 9 91d U B IwR a1s¢l
U= o9 o Bt fobvol amepdt & o forw e 1 ym @l 82
1. A &

2. 570 A PIS TLT

3. 3R et 9 3t 1 e o e &

4. ST H N 1

Correct Answer :-

- SR foret A =it o1 et fovet fean &

13) CANCELLED

el Qe A R aTqD
TEHE B HIAd gRaTe,
RorudY forert 33 3t fawot
a7 Y T Foreht STl ¢
A FRVWTFAR

e sfva 3R B T 9o,
AT Y T W FPT g
A4 F1 R e e was |
Jwifera-ef el agen
St it A A aredt,

IRER TS B HA B
fpfesforat & 2vmmedt |
It i+t e T,

o, 5RRe eRT & it <&
em it e, A=h e
& F gl A frafia

£ 8 SR HeR @
gl et + aeast
Siftrat, fsue fie @<
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fRpeet & S ¥ 95t Ryl

[ F Fal R v,

Fa firva g ot o

39S gell A gl W

o 7Tg ueriwr @Y yge? 9 YR WA 91 URA $7 I&R Ia1s¢
U 3T & U B STel Tidh 3R Wi Bt e el @ e T 2
1L AR

2. T8 SIferdt &

3. WRI IS

4, ARl

Correct Answer :-

. HoRarg

14) CANCELLED

Tefl @l § R dA@D
TEHT B HIAT gRaTe,
Rradt e 30 3t ot
T Y <t Sret wmedt
freisRRNTR

e siva R ? we1 9o,
TTHA Y q W Gl gor
a4 F1 R Feda i was|
it el agen
St o A A qredt,

SRER WS Bt HA B
fpfpforat & ivmmedt |
It i ST T,

@, 3R RT S wiie I
e ot e, A= et
¥ d wal § Rafera
&9 ¥ wiar Aer @
TEwelt et < aeat
ftra, Ryurg fw wr
foreelt & m ¥ Y forareht
TS Fal W g,

T i 51 o wd

ST T FAAARI

T T Terie @t T 2 IR O aTe U BT Ik qarsul
UT: 3T & IR B GG A U ST 3R Bt 82
1. A& fgd

2. Freafiguf

3. TR

4. Tg=Tquf
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NENACE |

15) CANCELLED

Tefl @l § R dA@DH
TEHT B PG gRaTe,
forut forary 33 95t fepwrot
T Y <t Sret wmeht
freisRNTR

e siva R ? we1 9o,
TS 3 T W GBI g
a4 31 R feda i was|
it aeht agen

el st 9 & et

SRER WS B HA B
fpfeforat & 2Mmsmedt |
It i ST T,

@, 3R RT S wiie I
Hrerm ot e, A= et
¥ d wal § Rafera

O g dfem rer @l
TEwel et < aeat
Biferar, furg fia wgh
fopeelt & or ¥ Y forareht
TS Fal W g,

Tt i 8 o v
ST FAAA I

o T eriwr Y g R U@ 9 91d U $71 I« ga1sel
T OR g ) AIGHAT A B Faarel 81 TS 82
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2. 3R

3. feegd

4. HOq
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16) Pt IaUTe ®1 SEHTA HIP SuIET +ft IR # UrfieR o SITaT 1 afe Sudiear T8) g o [l ot Fraei &1 arfSre 78 8| ol 99 STWieT &
SRPR F1 Tara § a1 Iuiaar F1 RAfY ga-iig § w8 Trf | 396! Tug@ & R 317 3} gHFHER BT 3SEI & THd § ot $F Io- diddl 8 T 98 ST Y
3T T TR S a1E PRl 81 SUTGIER FISTE I94 I1dt Fed |ied | fireiae $3b agg 91 991 9414 &1 $© 991 gd fHramadt wal aa & Ham arelt gradt =m 3t
Nt eyt arg g1 afe o aft vt gTIeR A RreTad B @Y fRared $ gl 9 ea A syt SuST gafagR € HeH usT g afe s wl T A
TP fmaT 1 A STuw! yaT ERN % 39 ¥ 9 ara wm ¥ 91 surerar Ao ufear gkt €1 gt aw 31 U & fhram arer @ o i sifedt o1 gtar 81 wRa
¥ firrae, SraTaTeY, STHIER, BH qo, 3M1fe BT R WWRT 36 81 1960 F 3P A HRA H IUHIET Sfieia Ie §T A1 1970 & ¥ d SUHIET figiad
had fdpd fore 3R uexi-i v 9@ & Wfta uni afh= g1 & aut # ITHiTT Gie! Bt GBI § aeil & IoTd T 8l

fashanait 3% Jar werarsi / @ F - Sif¥re g B i Iuriaarsit & ury Sru+it smaTel I8 & Ryar iR B IRar 7Y =1 41| B aui & @9 T F 95
PR B 3P VR A1 & ol I1fra g1 vt 3R 30! uRuifa & =0 & 1986 W HogiR WITaR Tae (HIURT) B a1 fHaT1 711 T IuHiaar &1 fbdt Saure &
IR & I8 TFHRY U BT TIPSR gaT 81 3 U ST € o fhell Ieure & U wR Srqwal ok TRem & IR # IHeRt &A1 sifard sre €1 0t e @ Susiien
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SR 3 T TR B UgHR A IR T Y= BT I« T8¢!

UL SUHIEATS & U T S5 & S[eTaT 3R SIS T Tl T UT?
1. UAT ST

2. 3T EST

3. 3T A HIE TG

4. 3T ST

Correct Answer :-

o 3O STEN

17) 5t IauTe &1 3T B SuiEar it IR & urfierR 99 rar 31 afe Suiear 781 g ot fhedt of S o1 arfSie T g | ol a9 Suvlet &
SRIBR BT AT ¢ df STHIFT B (AT gt €t Bl Il gae) Tag@ F R oy IV gHHER BT ISMEIVT A THA & il HH qol diedl & a1 98 ST Wl
T U R S A1 B 81 SRR MHoTE 397 a1t v A1t § freiae % agg 91 901 a1 §1 T aul ugdt fraradt wRat aa & bae arell gicd =9 &
dar Ut arg gl Al Sy St fwlt gTaR | Riead w34 Bt RATed ot givil oY gea # TUH! IHHT gagR € So=1 T g1 i g it 7 &
THR a1 1 it 3yt uat g1 6 39 ® e aret W 1R #1 SareraR i ufear 1 €1 aet 9o @t 8 & frem aren @ ot wfea Siferdt &1 gtar 81 WRa
# fyarae, SraTETe), SHIERY, BH g9, i B R RIS B1 1960 F EX1F A URT A IUHTT TSI e §T A1 1970 F P % ST g
Faa fcpa RrEm 3R yexi-t T 7@ & Hifia uni AP g F uf & SuvileT W) Bt TE & do A IBTa ST gl

fasparait SR Va1 yerarsi F AR & ga- 3ifire sRig At for Iuiearsii & URT 3o+l SiraTel IS F Ryar iR B T 7t 71 1| &S 99f & od Tud & a1
WPHR FI TP W A1 F 8 Tifra g1 st 3R 39 ukuifa & w0 & 1986 H Hogur WaR Tae (HIURT) B a1 fHa1 111 T IuHiear &1 fpdt Saure &
R T AE! WFBR UH BT ATUSR gaT 81 3/ T ST & ol [l Iate & U WR Srqudl 3 FRem & IR W AFASHRY A1 3ifard s1a &1 Wet = & Suiian
B! {5l +ft Saure @ @die ¥ R IR fiofa A9 & veg ferd 31 faseht off Saae & O W siftreaw et geu feram off sifvard g B1 af 1S gorer
THIRG A 3R =TSl Bar § af SUHIFT US| RPTad = ThaT 81 TH SulaT & [ et & § g9 &1 fUeR giar 81 15 ot fashar daa v &t gis
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SR A 1T TR B Ugep AR IS Y YA BT IR T8I
W= firemadt Tl A A F-0 S Heft G

1.

2. SIRf

3. PIANIR

4. FaRan
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- gft

18) Pt IauTe F1 FTHTA HIFb SUUIFAT it TR & urfierR 99 STar 31 afe Suiear 781 g1 ot [t off e o1 arfSye 8 g | ol a9 STl &
SIBR T AT ¢ dF STHIFT B FRATT g €t Bl It 30! Tag@ & R oMy 3V gHHER BT ISEIVT A TP & Sl HH qul diedl & a1 98 ST Wil
3T T TR S a1e FIA B 1 TSR FIoTE I99 a1 = |ret | firerae w3 agg 91 I8f 9919 81 $O 91 ugd frarad wal aa d Ham areht graht 53 3t
FHR Ut ag gl Al Sy St fxlt gTiaR | Rierad w3 Bt RATed ot givil oY gea # TUH! IHHT gaagR & So=1 T g1 i 3y Saft 9 d
THR fan g it 3yt yat 81 6 3 ® e aret W 1R #1 SareraR i ufear i €1 aet 9w @t 8 & Ry aren @ o wftar Siferdt #1 gar 81 WRa
Y firarae, SraEeRY, STHIERT, U a9, 3¢ BT JRIFT WWURT 36T 81 1960 F IS J HRA A IUHIHT SHieia e §U A1 1970 F 1P db SUHIET figiad
Faa fdpa fRrEm 3R yexi-t T 7@ & Wit uni A g F auf & SuvieT W) Bt T= & doit A IoTd ST gl

fatpamail 3% Jar wararsi @ @ # - Siftre g B i Suiaarait & ury Srusit amarst I8 & Ryar iR HIE IR T =1 41| B qul P @S T F 96
WHR B 3BT WY A & R F1fa g1 usT ok 3t uRuifd & =0 § 1986 T HogHR HIdaR Uae (HIURT) FI A1 [Ha1 111 T Iuvia 3 fHdt Iae &
R ¥ AE! WFBR UH BT ATUSR gaT 81 3@ WA ST & ol fHll Iute & U W Srqudl 3R e & IR W AASHRY A1 3ifard s1a &1 0t = & it
Y fdt oft Saure ) Wien ¥ o S fiofg o & weg fardt 81 feedt oft Saare & 99 W eiftreran e ged firaen oft sifvard glar 81 afe 918 garer
THIIRG A 3R =TSl Bar § af SUHITT US| ReTad 3 Thar 81 TH SuHiedn & A et & § g9 &1 fUeR gar 21 1 ot fathar daa v &t gis
A3 7 X THT ¥ 1 S AT TEH P! F3 fAPed 37 8171 37 ATUPR F) Auieht ¢ & FRars a7 S & s oy fear smar 21

IR A ¢ Ty B vgHs AR I T U o7 S« a5l
wz: IS+ fassar 71 Faa T & w1 E FR wwan

1. 9ol

2. 58

3.0

4, 9HH
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19) el SUTE BT SHHTT PP ITHITT I IR # URTIGR o orar @1 afe SuHiaar 78t g1 i et +ft Fru=it o1 eifrea 1) ghm i <iel @ SuMien &
SRIBR T AT ¢ dF STHIFT B FRATY g €t Bl It 30! THgm & R oy 3V gHHER BT ISEIVT A TP & Sl HH qul diedl 8 a1 98 ST Wil
T U W S A1 B 81 SRR MHoTE 397 a1t v A1t § freiae e agg 91 901 a1 §1 T8 aul ugdt frarad) wRat aa & bam arelt giwd = &
dar Ut arg gl Al Sy St fxlt gohTiaR | Rierad w3 Bt RATed ot givfl oY gea # MU IHHT gagR & So=1 T &I i A it 37 d
THR a1 1 it 3yt yat 81 6 39 ® e aret W 1R #1 SareraR i ufear 1 €1 aet 9w &t 8 & Ry aren @ ot wftar siferdt o1 gtar 81 WRa
¥ firarae, SraEeRY, STHIRERT, U a9, 3¢ BT GRIFT WURT 36t 81 1960 F IS J HRA A IUHIHT SHieia e §U A1 1970 F 1P ab SUHITT figia
Faa fcpa fRrEm 3R yexi-t T 7@ & it uni AP g F auf & SuvileT W1 Bt T= & doit A IBTd M gl

fasparait 3R Tt yerarsit & @i § ga-t ofte sragf® <ft fF Iuiaaral & U 3ot SmaTe I3 & AT 3R HIS IR LT T4 41| B auf & @9 WY & G
WPHR $I TP W A1 F 8 Tifra g1 st 3R 39 ukuifa & w0 & 1986 H Hogur WaR Tae (HIURT) B a1 fHaT1 11 T IuHiear &1 fedt Saurg &
R T AE! WFBR UH BT ATUSR gaT 81 319 W B & ol fHll Iute & U WR Srqudl 3R TRem & IR W AASHRY A1 3ifard s1a &1 0et = & it
Y fit oft Saure Y Wien & o 3R iy o & weg et @1 feedt oft Saare & 99 W eiftreran e geg firaen oft sifard glar 81 afe 918 garer
THIIRG A 3 =TSl Bar § af SUHITT US| RPTad = ThaT 81 TH SuHiadn & [ et & ¥ g9 &1 fUeR gar 81 $1g ot fashar daa v &t gis
31 7Y B Wbl 31 IX AU UTEH B FS f[dhed & 811 39 fUSR F HiuTel T8 & f[are a9 ST & i ang fomar smar 21

W oA T TR B TgHR A TD T ¥ HT Sk qe15¢ |

W: 991 &7 ARBR 3R L1 BT SMRIBR S IuHia & RERI & {59 B & qga an] fear wmar g2
1. JUHISHIT TR&0T

2. fopforra <

3. A ¢

4. SuT Al
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. HHURT ¢S

X

20) At ITE BT FTHTA X SuHIET Y TR & YRR 9 ST 21 afe Suiear 78t g1 o [t oft Fwai &1 arfSyea 78 g | ol a9 STl &
SRIBR BT AT ¢ df Uil Bt fRITY quta €t B St 306! Tagm F R MY 3V gHHER BT ISEIV A TP & Sl HH qul diedl & U1 98 ST Wil
3T U W FS a1 Bl 81 WG faTs 99 a1a F= Al # Rieiae o3 agg 91 901 a1 8 | $© a6l gd frarad! aeal aa & an arelt giwh 7 @t
St smuwt arg BN afe SR Hft et gETER | R s 3t femTewd $1 g5 Sgd § Suw) SHST gHdER & AT UST 8RN afe 3o Hft g |
TH forar §ITTT ) e udl 1 1 3 A i arel WA §9 Y SureraR A ufedr @it €1 get de @t ¥ § firer aren @ oft wfear eifidt &1 gt 81 HRa
¥ firdTae, SraTEaSeY, STHIERT, BH a9, 3M1S BT IR WWRT 36t 81 1960 F P A HRA A IUHIET SHieia— Ie 5T A1 1970 & I a SUHIET figiad
had Nféepa fre 3R uexi-t v 9@ & WfAa uTi afeh=T g1 & aut A ITviear ie-! Bt oI § au A IoTd T gl

faspraraif ok ar werarsit ¥ @ & ga-it aiftre rigiy <t for Iueiiaarsii & U ra=it smaTs 38T F Ryar 3R g Tar 8T 741 AT B3 99 F @ WY b 9IG
WPHR FI TP W A1 F G T g1 st 3R 3ua! ulkuifa & 0 & 1986 W HoguR WIeaRM Tae (HIURT) B A1 b1 T[T TP IuHiaar &1 fpdt Saure &
IR ¥ Y€ TFHR UH &7 ATISR gaT 81 3/ W ST € it f5ll Ite & I W Srayal 3R TRem & IR W IS RY 341 3ifvard g1a €1 Wt e @ Sudian
31 {5t +ft St &1 @dten ¥ o i vk A9 & wag fradt 31 faredt off Saute & 9 W sifteaw et geu feramn off sifvard gien 21 afe 1S gorer
THIRYT | 3ifire 9ol Far & | IuHiar SuS! RIeTad B Teal 81 T IuMla &1 At el & ¥ 997 &1 AfreR g1 1 w1 ot faar aa oo & 9is
=1 TS X ThT 71 S AU UTEH Bl B3 fAPHed &4 8171 3T ATUPR F1 AT ¢ & R{ars a7 S & wia ang far s 21

FUR A T Y B tges R IR T W= BT I« qdsy|
U HogHR NI Ve (HIWRT) it &9 an] fwar Tar?

1. 1986

2. 1999

3.1993

4. 1990
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« 1986

21) Y IS BT FHHTT FXb SuHiaaT Wt TR & YRR 9 ST 21 afe Susiiear 78t g ot feeht oft vt &1 aifae 18) g | oel 9o STHleT &
SRR BT Hard 3 @) Sl 1 IR go-ita § o8 IR | 9@ T9sm & R oy 3 gPTGR o1 IETERY A HHd § o HH I dierdl ¢ a1 98 S+ oif
3T U TR S a1 Il 8| SUTGIR FISTS I94 1at e Hid | fireiae $3b dgg 91 991 9414 &1 $© 91 ugd fhraradt WAl ad § bam arelt giadt am 3t
At eyt are gRM1 afe o waft vt gpTIeR A ReTad B @Y fRared $ gl 9 sea A MUt SuST gafagR € FaH usT g1 afe s w3 A
THR a1 g1t MUt uat 81 o 39 | fawa arat WA 01F #1 SureraR dil ufear g1t €1 ust 9@ @t U | e aren @ oft ufea siferdt &1 gtar 81 WRa
U fireiTae, FTATESR, THREN, $9 99, i FT IR 1T T8 81 1960 & 3@ § YR ¥ IuHIFT s 3% §¢ A1 1970 F II® q% IJUHITT iigha
Fad féha fRoraa SR ye=l- A a@ €t W uni Afe= grar & auf & Suviiaar Gire-l ot Je § duft & SoTe ST 2|

fasparaif ok Tar werarsit ¥ @R & ga-t it Rigiy <t fr Smiiaaraii & Uy ru=it SmaTe 33T F Ryar 3R g IT ALY T AT B 96 P @ WY b qIG
WHR P! 3P W A1 F R T g1 et 3R gua) ulvurfa & 0 & 1986 W HogwR WIdaR Yae (HIURT) B a1 fHa1 11 T IuHiaar #) fpdt Saure &
TR ¥ T AFBRI U BT ATIBR ST 81 3F T B @ Wil ol St & U9 W Sragal 3R GRe & aR § Wb R &A1 3ifard ara &1 Tt Gaan & uHien
I {5t ot IauTe @ @i ¥ R Sfra fAvfa A9 & wag fradt 1 fradt ot Saue & O W siftreaw et geu feramn off sifvard glen 21 af 15 goHer
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THIARM | e =Tef Hear & @ STHITaT SHBT RIGTad B THal g1 Th IuHiaar o A et § d g1 &1 fter gar 81 o1 it fighar Faa ve & wis
ST LT B FHdT 21 S U YD Bl B3 [Ahed 37 81111 3 ABR FI WHIUTEH T8 F fAaTw a9 S & 9id ar] fmar siar 21

SR 3 T TR B UgHR A IR T Y= BT I« T8¢!
U afg IUHIT T g1 af HU BT AT TG T2

1. faRm

2. 3fffT@

3. gfare

4. AT
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22) ot e BT 3HTa P SuHiaT W TR # YR 99 ST 31 afe Suiear 78 g at fpelt ot S o1 arffye 78 g | ol a9 Sl &
SRIBR BT AT ¢ df STHIFT B (AT gt €t Bl Il 3ae) Tag@ F R oMy 3V gHHER $T ISEIVT A TP & i HH qol diedl & a1 98 ST Wl
T U R S A1 B 81 SRR MHoTE 397 a1t 7= A1t § freiae % agg 91 901 a1 §1 T8 aul ugdt frarad) wRat aa & bam arell gicdh =g &
dar Ut arg gl A Sy St fxlt goTaR | Riead w33 Bt RATed ot givil oY gea # MU IHHT gagR € So=1 st &I i 3y it 37/
THR a1 g1 &t 3yt uat g1 6 39 ® e aret WA 1R #1 SareraR di ufear g1 €1 aet 9o @t 8 & frem aren @ o wfea siferdt &1 gar 81 WRa
# fyarae, SramETe), SHIERY, BH g9, i B R IRWRTIE 71 1960 F oX1F A URT A SUWTT S e §T A1 1970 F P 9% ST g
Faa fcpa RrEm 3R yexi-t T 9@ & e uni AP g F auf & SuvieT W) Bt TE & aoit A IBTd ST gl

fasparait 3R Va1 yerarsi F ar & ga- Sifire sRig At for Iuiaarsil & URT 3ol SiraTel IS F Ryar iR B T 76t 71 1| &S 99f & ad Tud & a1
WPHR FI 3P W A1 F 8 Tifr g1 st 3R 39 ukuifa & w0 & 1986 H Hogur WaR Tae (HIURT) B a1 fHa1 111 T IuHiear &1 fedt Sarg &
R ¥ YE! WFBR UH BT ATUSR gaT 81 3/ T ST € ol [l IaUte & U WR Srqudl 3R e & IR W AHSHRY A1 3ifard s1a &1 0et = @ Suiian
B! {5l +ft Saure @ @die ¥ R SR ok A9 & veg ferd 31 faseht off Saae & O W siftreaw et geu feram off sifvard g 31 af 1S gorer
THIRY | 3 =TSl Bar & af SUHIFT US| RPTad = ThaT 81 TH SulaT & [t et & § g9 &1 fUeR giar 81 15 ot fashar daa v &t gis
V=1 78 X THT 1 I AT UEP B| $ AP &1 8171 5 ARUSR H) AT 28 & ¥ATs 77 S & wiivd a1 fbar srar 21

SR A T TR B Ugen AR IS ¢ YA BT IR T8I
T: Fathal B SIUA UTEHT B T B A g2

1. 9%

2. e

3. 3dlq

4.9
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23) fordt e BT 3TATA X SuHEET W TeR # YR 99 ST 81 afe Suviear T8 g1 @t fheft ot e o1 arfSye T8 g | ol a9 STl &
SIBR BT AT ¢ dF STHIFT B FRATT gu- €t Bl It 39! Tag@ & R oMy 3V gHHER BT ISEIVT A THA & Sl HH qul dierdl 8 a1 98 ST Wil
3T T TR S A1e FIA B | TSR FIoTE I99 a1t = |ied | firerae w3 agg 91 991 9919 81 $© 91 gd framadt wal aa A Ham areht graft 53 3t
Far Ut arg gl Al Sy St fxlt ghTaR | Ridrad w3 Bt RATed ot givil oY g # MU IHHT gagR & Se=1 T &I afe g Sft 7 d
THR a1 g1 &t 3yt uat g 6 39 ® e aret W 1R #1 SareraR i ufear 1 €1 gt 9w @t 8 & Ry aren @ o wftar siferdt #1 gar 81 WRa
Y firarae, SraEeRY, STHIERT, U a9, 3¢ BT GRIFT WWURT 36T 81 1960 F IS J HRA A IUHIHT SHieia e §U A1 1970 F 1P db SUHIET figiad
Faa fdpa fRrEm 3R yexi-t T 7@ & Wit uni A g F auf & SuvileT TWreA) Bt T=m & doit A IoTa M gl

fatpamail 3iv Jar wararsi @ @ # - Sifire g B i Suriaarait & ury Srusit amarst I8 & Ryar iR HIE IR T =1 AT B qul P @S T F 96
WHR B 3BT WX A & o F1fa g1 usT ok 3t uRuifd & =0 § 1986 T HogHR HIdaRM Uae (HIURT) HI A1 [Fa1 111 T Iuvia $i fHdt Iae &
R ¥ AE! WFBR UH BT ATUSR gaT 81 3@ T ST & ol [l IUte & U W Srqudl 3R JRem & IR W AASRY A1 3ifard s1a &1 0t =1 & Suiaan
! fdt oft Saure Y Wien ¥ o S fiofg o & weg frerdt 81 feedt oft Saare & 99 W eiftreran e ged firan oft sifvard g1ar 81 afe 918 garer
THIIRG A 3R =TSl Bar § af SUHITT US| ReTad 3 Thar 81 TH SuHa & A et & § g9 &1 fUeR gt 81 1 ot fathar daa v &t gis
A3 T HX THT ¥ 1 S AT UEH P! F3 fAPbed 37 8171 37 ATUPR F) Auieht ¢ & Rars a7 S & s oy fear s 21

W oA T TR B TgR A TD T ¥ HT Sk T8¢
uT: ARERY & urHe § yRdra Sudiaare @ fRufy $dt 22
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2. g9
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4. 99

Correct Answer :-


https://applink.adda247.com/d/XhqWf9lSap

e
Google Play

24) Y Iae BT 3THTA PP IUHIET W TR # YrfieR 99 ST 81 afe Suiiear 78 g1 fheft ot S o1 arfSye T8 g | ol a9 Sl &
SRIBR T AT ¢ dF STHIFT B FRATT g €t Bl It 39! Tag@ & R oMy 3V gHHER BT ISEIVT A THA & Sl HH qul diedl 8 a1 98 ST Wil
T TP W S A1 B 81 SRR MHoTE 397 a1t v A1t § Freiae e agg 91 901 a1 §1 T8 aul ugdt frarad) wRat aa & bam arell giwd = &
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Topic:- Mathematics (MAT)

1) 3c(a+ b)isa/an

3c(a+b)TH ____ B

1. algebraic equation / SISO FHIHROT
2. monomial polynomial /WEIEONEETI?I
3. binomial ponnomiaI/1?'1&51"13{5‘?&r
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4. trinomial polynomial / Uk sgue

Correct Answer :-
« binomial polynomial / f§UEIa IgU

2) If the perpendicular distance of a point P from the x-axis is 8 units

and the foot of the perpendicular lies on the negative direction of x-axis, then the point P has: /
i x-31e A TP g P B dad gt 8 3B @

3R A9 BT UG x-3H& BT BUTHS RIM R R@ g, Afgp A &:

1. Ordinate = 8 / HIfc = 8

2. Abscissa= 8 or -8 / Yol = 8 3{Ydl -8

3. Abscissa = 8 / Yol =8

4. Abscissa = -8/ Yol =-8

Correct Answer :-

« Ordinate =8 /®lfc =8

3) If the CSA of a right circular cone is 12320 sq cm and its base radius is 56 cm, then its height is: /

Ife U A9 agd P BT I YEIT SA%a 12320 T I quT 3T YR =41 56 W 7, O 39S FATS ©:
1. 42 cm /42 et

2. 24 cm /24 94

3. 40cm / 40 St

4.21 cm /21 f

Correct Answer :-

o 42 cm /42 9t

4) What is predecessor of natural number 1? /
UThd Y=AT 1 BT Ydad! TSI FT 32

1.2

2.1

3. no predecessor/aﬂéqﬁa?ﬁm:rﬁ%

4.0

Correct Answer :-

e no predecessor / P WW TEE

5) Which one of the following is not an objective of scholastic assessment? /
Frafifea & @ o-a1 fagl & geaies o1 te 339 781 82

1. Knowledge / JT-

2. Analysis /ﬁ'fl_(-'\iw

3. Comprehension / THY

4, Attitude / TgRT

Correct Answer :-

« Attitude / TIGRT
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6) A regular pentagon has perimeter of 45 cm. What is the length of one side? /
TS W Uy ST URAY 45 At 81 39F TH YoIl I dars fra-it 82

1. 9cm/ o9

2. 9.5cm/9.5 3

3. 7.5cm/7.5 9

4. 15 cm/ 1599t

Correct Answer :-

« 9cm/9 T

7) pz+qq—z5
Ifp=-2.q=3. and z= 2, then find the value of p——.
- +pa-pqz

; p?eqd_z® i
g p=-2,0=3,79 z=2 §,dr p——— & AT A1 HI
s+pa—pqz
9
.
31
2 2
1
;5 5
4,19
Correct Answer :-
1
. 5
8) 1 " 1 2 4
x2—5x4+6 x2—7x+12 x2—6x+8
1. (x-3)
2. (x-2)
3.0
4. (x-4)

Correct Answer :-

¢ 0
9)
The diagonals of a rectangle PQE.S intersect at the point O. If
£P0OQ = 130° then £0RS =7 |
Frad PQRS & @0t thgay &1 fdg O v gfd=sied #id
&1 afe LP0OQ = 130° 9 LORS =7
S 0 —IR
1
P Q
30e
1.
250
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10) The area of sector of a circle of radius 10 cm and of angle 60° is )

10 Ffr B Gur 60° FOT @7 UF god & ASIAES F AAR g1

157

157
%sq cm/ Ta?’r Fr

157 157
ai sqcm / gia?‘r Y

167 167

qucmFTa?ﬁ'TaTﬂ'
3.

4. 157 sqem/ 157 97t et

Correct Answer :-
157 157
ai sqcm [ Sia?‘r Earaiy

11)  Given two right angled triangles PQR and DEF such that 2Q=30.

£D=30 and QP=DE write the correspondence if triangles are congruent. /

ar @HSIoT ey PQR AR DEFSH &R G av § & 2Q =30, 2.D =30 3R QP=DE
1 afg Bere wabres € & Heaar 9|

| ARQP=AFED

, AQPR=ADFE

3 APQRXADEF

, APQREAEDF

Correct Answer :-
APQRZAEDF

12) APQR.is an isosceles triangle with PQ=PR. Altitudes RF and QG are drawn to the sides PQ and
PR from vertices R and Q If one altitude RF is 3 cm and the base QR is Scm then GR= il

APQR U THefddg gt 8, fwed PQ=PR &1 fideial RF 3R QG ofif Rwa Q&
gt PQ 3R PR @& = arar &1 afg v ofidei RF 3 3t § 3R smam QRS &l
gdrGR=__ |

1.4 cm/ 498

2.3 cm/3 M
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3.5 cm/ 59t
4.6 cm /69

Correct Answer :-

« 4cm/4 QR

13) AD is a median of AABC and M is the midpoint of AD.Ifthe area of ABMD is 2.5 cm?, then the

area of AABCis [
AABC &T U AIfEA&T AD§ duT AD &1 Fedfag ME1 & ABMD &7 &136d 2.5
F#2 £, a7 AABC &7 8195 21

1. 20 cm? /20 TH?
2.10 cm?/ 10 92
3.5 cm? /5 QP2

4.25 cm? /25 IH?

Correct Answer :-

« 10 cm? /10 ¥H2

14) 1
Anu’s ageis Efd- of her mother’s age .If Anu’s age is 12 then mother’s ageis /

3ol I 3Tg 3T AT &l 3G &1 1/3 81 TG 3o & 3G 12 a¥ g, A & 3777 &

15) The length of two trains T1 and T2 are 620 m and 480 m respectively. The length of the freight
train T3 is twice the sum of T1 & T2. Find the time required by T3 to cover a post on the
distance
1/
eed

platform if it has a speed of 20 m/s. [time =

ar &= T1 ud T2 &1 oas wEe: 620 Hex 31w 480 #Hex g1 Aeent T3 &1 e
& T1 ©9 T2 & 1T &7 gupn ¢l e sadht fd 20 Aefas &, o T3 @’ &
TR W UF TEC & UK &6l & [T IJaeds 8T A9 Hi?

1. 3 minute 10 seconds /3 fiFE 10 9&He
2. 1 minute 50 seconds / 1 fiIFe 50 Y5
3. 2 minutes 10 seconds /2 e 10 &8

4. 2 minutes 40 seconds /2 e 40 b

Correct Answer :-

« 1 minute 50 seconds / 1 fFe 50 A% S
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dx+y+2 _  3dx-y-1 x+3y+1

If 2 . , then find the value of x and v.
_q_% 3x+3y+2:3x—y—1:x+iy+1 %.,(__n_ It.'a: 3_$ AT AT a‘ﬁ_l

2

x=-2 vV=—
5
1.
x=1y=-5
Pl
2.
1
ES iy
3.
4.x=2,y=3

Correct Answer :-

e o
- V=
17) o s
If @ and 8 are the zeroes of the polynomial x* — 5x + k,wherea— f = 1,thenk=__. /
e a T p 9GUE x2 —5x +k & Yok B 96 a— f= 18, Ak=__
.76
2.2
3.3
4.6

Correct Answer :-

18)  Four figures are plotted on a graph sheet as mentioned in the following table.

Covered area Figure | | Figure 2 | Figure 3 Figure 4
Fully-filled 3 8 6 4
squares

Half-filled 7 _ 2 5
squares

More than half 4 4 _ 8

filled squares

Less than half 9 7 B _

filled square

Find the figure with larger area. /

ot arfeer & aftig o ofie @ 9 3ies few aw §)

Fax &aT =T | 3Tl | 3THsT2 | THsT3 IHsT4
HE]

qof §T F | 5 ] 6 4

CEl

T 8T gt 7 - 2 5
e F T | 4 4 - 8

sy aat

W F w9 7 _ B

GEll

Y g5 &1 T HiFsT A i

1. Figure 4 / 3fihST 4

2. Figure 2 / 3T 2
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3. Figure 1/ 3fi gl 1

4. Figure 3 / 3(fh 31 3

Correct Answer :-

« Figure 4/ 3{ip3T 4

19) Find the value of 'k, if ¥~ ~ 2%+ 1 is afactor of 2" + %' —14x* +5k+6
qﬁ2x4+x3—14x2+5k+6mwmx2—2x+1 2, @ 'k T U I B
1.7t

2.2
3.1

4.3

Correct Answer :-

20) Find the missing number in the following pattern. /
frafafeT te & gu e 3 w31

-7 ,1,5,__,17

1. 11

2.4

3.7

4.6

Correct Answer :-

21) Find the difference between the predecessor of 98701 and the successor of 9871. /
98701 & Ydadf 3T 9871 & Wad! & S 3R BT Id B

1. 88832

2.2

3. 95000

4. 88828

Correct Answer :-

o 88828

22) Find the GCD of 10, 20, and 30. /

10, 20 37X 30 HT HETWH HIUTSIP (GCD) FTd HH|

Correct Answer :-

« 10
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23) A scaled down teaching encounter is known as i
3avfia (Fpes s18) Rremr waef & = H ST S B
1. Macro teaching / J&d 218101 (B Afefm)

2. Micro teaching / & TRIefo1 (wrgen! Afm)

3. Mastery teaching / IdT0T fRI&01 (RS ifeim)

4. Model teaching / Aigd fRrefor (Algd <ifem)

Correct Answer :-

« Micro teaching / G&H 1&g GIEEAKE D))

24) Postulates are assumptions specific to )
wiftg, falred &t s@urRomg &1

1. trigonometry / [ECANIGIG]

2. algebra / EISEIG

3. geometry / St

4, arithmetic / 3BT

Correct Answer :-

e geometry / STt

25) ‘Algorithms De numero Indorum’ was a work on Arabic Arithmetic by ./
TANNGH S ORI SSRA’ F GRT 3RS BT U= 5 mar &1 o
1. Al Kharkli / 37ef @RaRef!

2. Abil-Wefer / JfET-IWR

3. Omar Khayyam / 3HR @&HH

4. Al-Khwarizmi / 3A-TATRH

Correct Answer :-

« Al-Khwarizmi / 3[S-BATRSHT

26) is the ability for a child of two years who is able to distinguish between more and less things when he/she is fit to consume food.

5 2 T & T DI &A1 & S HISH BT STHNT B P e fibe 811 R 3 3R &1 sl & Ji 3iaT & § J&|
I

1. Understanding of notations /ﬂ%‘—raﬁm
2. Recognition of numbers/mﬁw
3. Recognition of notations / ‘vﬁ?—cﬂﬁw

4. Innate number sense /Wmﬁﬂ

Correct Answer :-
« Innate number sense /WQT@H@[H

27) Rhombus is formed by joining the midpoints of the adjacent sides of a i
F ST Yelrai & guafigai & e  auagys a9 a1 21
1. Rectangle / 31ad

2. Parallelogram / FHFIR agee
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3. Rhombus / FHagys

4, Kite / gail

Correct Answer :-

« Rectangle / 3Mdd

28) The mean weight of 7 boys is 45 kg. The weights of 6 of them are

53 kg, 45 kg, 40 kg, 37 kg, 42 kg and 50 kg. Find the weight of the 7t boy. /

7 TSH! BT AT IO 45 fHUT 81 ITH ¥ 6 H1 awi 53 5T, 45 I, 40 foFm, 37 foram, 42 5w auT 50 fFwm §1 79 WS &1 9o T BI|
1. 42 kg /42 T

2. 48 kg / 48 fawm

3. 45 kg / 45 foounn

4. 50 kg / 50 forumm

Correct Answer :-
o 48 kg /48 fHum

29) The degree of the polynomial (2x —8) + (8~ 2x): /

W(Zx_8)+ (8—2x) N

30) The action verb for giving examples of different types of sets is v
fafira yoR & =l & ITeRvT & & e frarers fiar 21

1. classifying J i

2. comparing / AT

3. differentiating / ﬁﬂ—cﬂ

4. listing / W

Correct Answer :-

« classifying / FifeROT

31) The graph of the linear equation 2x + 5y = 10

I® THIHEI 2x + 5y = 10 FT AW TH 34T ¢ & fig W x-31&7 | firear 81

1.(0,2)

is a line which meets the x-axis at the point i

2.(1,2)
3.(5,0)

4.(2,5)

Correct Answer :-
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32)
Which property is used to equate: /

Tfied B F Rorg T qorend 1 SuahT o s 2:

i. 19 x 13 = 190 + 57

ii. (-34-53) + 23 =-34 + -30

1. i - Commutative property, ii - Associative property /i - Wﬁﬁﬁuw i - TGN 0T
2. i- Distributive property, ii - Closure property /i - ﬁﬁTW{[UT, 1i - FHIY 07

3. i- Commutative property, ii - Closure property /i - Wﬁﬁ'ﬁﬂ{m, ii - FHTI 07

4. i - Distributive property, ii - Associative property /i - ]%?ITW’IUT, ii - TEAR qor

Correct Answer :-

« i- Distributive property, ii - Associative property /i - faaR o 0T, ii - BREIR qur
33) Choose the solution for the equation: x+9 = 12./

FHPI: x+9 = 12 F 50 BT qGT B

1.3

2.4

3.2

4.6

Correct Answer :-

34) Simon has a rectangular pond of length 210 m and width 165 m. He wants to fence it with 2 rounds of rope at the rate of Rs. 10 per metre.
Find the cost of fencing. /

JISHA & U 210 HIeX oot 3R 165 HieT NS T ATAATPR ATTd 21 98 10 ¥ 9fy Hiex $1 g7 A 7= & 2 931 & 396 918 911 Argar 21 918 &=
&Y AT 1 B

1. Rs 15000 / 15000 0

2. Rs 7500 / 7500 T9&

3. Rs 6930 / 6930 30

4. Rs 693000 / 693000 TT

Correct Answer :-

« Rs 15000/ 15000 398

35) If the perpendicular distance of a point from y-axis is 4 units, then the point has: /
afe y-3181 A T g P dgaa g4 @ 3, A fdg &

1.y coordinate 4 / y Fid=Ii® 4

2. x coordinate -4 / x ISP -4

3. x coordinate 4 / x &I 4

4. x coordinate 4 or -4 / x SR 4 YT -4

Correct Answer :-

« x coordinate 4 or -4 / x ISP 4 3aT -4
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36) If each of (-3,6),(0,3) and (3,0) is a solution of a linear equation

In x and y ,then the equation is: /

TS UAP (-3,6),(0,3) TG (3,0) TP Wb HHIT x TF y & 4 &, Y THIBROT &
1. y=x-3

2. y=x+3

3. x+y=3

4, y+2x=0

Correct Answer :-

37) The area of the triangle whose vertices are P(2,0), Q(5,0) and R(5,2) is: /
39 Y &1 S d F1d B et =0 p2,0), Q(5,0) TE R(5,2) ©:

1. 25 units? / 25 SHTS2

2. 6 units? / 6 SHTS2

3. 4 units? / 4 SHTS?

4.3 units? / 3 SHIS2

Correct Answer :-

o 3units? /3 3PIS2

38) Which one of the following points does not lie on the line 2y = 5x-2? /
ﬁwﬁr@aﬁ%ﬁmﬁﬁg%m 2y = 5x-2 IR fRUT 8?2

1. (0,-1)

2. (-4,-11)

3.(-2,6)

4.(2,4)

Correct Answer :-

39) Which one of the following is not a teaching style? /
Frufafad & 8 o199 & Rgor I 781 82

1. Scolding / e

2. Demonstration / it

3. Inquiry / STid

4, Discovery / 3=V

Correct Answer :-

« Scolding / IEGSIGI

40) Which one of the following statements is false about polynomial? /

fFrafifEd & § S9-91 $Y 9gUe & U | S 72
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1. According to division algorithm, the dividend polynomial p(x) when divided by divisor g(x), gives quotient q(x) and remainder r(x) such that p(x) = g(x)q(x) + r(x),
where degree of r(x) 2 degree of g(x). / Qv oA & SJUR, YIS dgUq p(x) P TG UISTH g(x) ¥ faifora fwar San %, al T q(x) T Ay r(x) T UPR
a1 R 3 p(x) = g(x) q(x) + r(x), FET r(x) BT T > g(x) FT O 3|

2. A polynomial with degree 3 can have a maximum of 3 zeros (roots). / 9Td 3 %WUWWIE{ SHfYHaH 3 YR HREGE]

3. A polynomial with degree 2 can have a maximum of 2 zeros (roots). / UTd 2 & HIY TP §gUe & Hewad 2 LAEH) 8 Tbd =

4. If the graph of an equation intersects the x-axis at two points, then the equation has 2 zeros (roots). / Afc Th THIBRU] BT AT x-3H& BT &l ﬁ'{{eﬁ WRPleary, af
THEROTH 2 T () B B

Correct Answer :-

« According to division algorithm, the dividend polynomial p(x) when divided by divisor g(x), gives quotient q(x) and remainder r(x) such that p(x) = g(x)q(x) +
r(x), where degree of r(x) = degree of g(x). / faIST UMY & STHR, IS TGUE p(x) P T UG g(x) B AT b2 Sirefl &, A HITHE q(x) T 2 r(x)
T UBR @08 & p(x) = g(x) q(x) + r(x), Tl r(x) BT °Id = g(x) BT °Td &1

41) Abscissa is also known as the ./
YOl (YSIiP) A WA Er 2|
1. X-axis / X - &

2. Point / %@

3. Ordinate / PIfC 3fef

4. Y-axis / Y - &

Correct Answer :-

o X-axis / X - &

42) Visualizations and drawing conclusion is achieved through the study of )

HeUHT SR IGh sy & 3eagT & HIHH | UTw fhar ST 21
1. Analytical Geometry / faeryoTeTs Sanfafa

2. Spatial geometry / TS STt

3. Algebra / SoRTIord

4. Arithmetic / 3BT

Correct Answer :-

« Spatial geometry / AT SATHFT

43) The length of the rubber tube is 44 cm. If it’s two ends are joined together, then it forms the circle. The area of circle is: / W’Sa@'?ﬂ ?ﬁﬂé 44 ﬁ%l

Ife 7% 3 OR T 1Y SiTs T ¢, T 7% 798 71 8 1 T6 7 & &
1. 14 cm?/ 14 972

2. 44 cm? / 44 T2

3. 154 cm?/ 154 Y12

4. 28 cm? /28 T2

Correct Answer :-

o 154 cm?/ 154 92

44) The sum of the digits of a two-digit number is 5. If 9 is subtracted from the number, the digits interchange their places. Then the unit digit of the
number is: /

<Y P IBAT P 3fhl BT TANT 5 ¥ 1 IS T@ & | 9 USHT o1 &, @Y 3 37 T yRafeld $2 A €, 9 &1 b1 3TS 3P 2
1.2

2.9
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3.7

4.6

Correct Answer :-

45) If the perimeter and area of a circle are numerically equal, then the radius of the circleis___ ./
Tfe T g9 #1 IR qUT P d e TUAIHHE, AgE eI B Rl

1. 3 units / 3 SBT3

2. 1unit/1 37:5T§

3. 4 units /4 Sﬁlﬁ

4.2 units / 2 31§

Correct Answer :-

. 2units/23$|'§

46) “Let no one enter who is ignorant of mathematics” was statedby __ ./
Iforg ¥ AR IS M afe @ a7 gRISeI Al

1. Thales / 9T

2. Pythagoras / qT_&'anW

3. Enchid / Eqﬁlg

4. Plato / we

Correct Answer :-

e Plato / '@E}f

47) The abscissa of the point of intersection of less than ogive and more than ogive is ./

19 fawf (ogive) A w0 Tyt 919 ol A oif¥res F ufosde fig &Y U (abscissa) 71
1. Mode / SgEH

2. Mean / W1

3. Median / ATfE®T

4. None of the above / JWRIad H & F Ta!

Correct Answer :-

« Median / AT

48) Find the odd one out. /
fawm A

1.<

2. =

3.0

4. #

Correct Answer :-
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49) Generalisation of Arithmetic is: /
1. Algebra / SorTior

2. Probability/mw

3. Statistics / TTREADBT

4. Calculus / e

Correct Answer :-

« Algebra / SreTIford

50) A single linear equation in two variables has: /
1. Maximum two solutions / 3fI&HaH &l g

2. An unique solution / U fgdid g

3. Infinitely many solutions / 3id g

4. More than 2 but less than 4 solutions / &l § 3ifIes A 4 @WW

Correct Answer :-
« Infinitely many solutions / 3fd g<1

51) 'Let no one who is unacquainted with geometry enter here' is connected with ____ ./
s Wt fea ot sfafa & st 8, wefwamra vy, 3 S uafa gl

1. The Sophist School /WW

2. The Platonic School /lﬁe“rﬁa?w

3. The First Alexandrian School / Ugdl e«lﬁa@%m@—d
4. The lonic School / GiTChﬁav_W

Correct Answer :-
 The Platonic School /‘ﬁaﬁﬁ@_@[

52) Which of the following is considered as undefined term? /

frrafafaa 4 @ fod srafvvRia ug a=T ST @2
1. Point / fdg

2. Quadrilateral /5@'&5‘[
3. Circle / 9

4. Prime Number / 34T T&AT

Correct Answer :-

. Point/ﬁ'g’

53) The author of Lilavathi was: /

Wearadl & d@® A:

1. Brahmagupta / STeIT &l
2. Aryabhatta /3'IT€f3-I§

3. Bhaskaracharya / W
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4. Ramanujan / XTHTZS

Correct Answer :-

« Bhaskaracharya / W

54) CANCELLED

If P(3,-5) and Q(-3,-6) are two points, then abscissa of P-ordinate of Q
is: / 9f& P(3,-5) T Q(-3,-6) T fIgE §, A Q & P-PIfe P1 Y &:

1.0

2.3

55) CANCELLED

In APQR, £P= 90° and X is the mid- point of PR. The value of QR? — QX? isequalto .
| APQR#, £P=90° Ol PR & AAMEg X &l QRZ—QX* F AR = __ Bl

1. 2P

2.3PX*

3. 4PX°

4, PX?

Correct Answer :-

56) 3Im6cm=7?/
3ftcre T =2

1. 3600 cm / 3600 SHY
2. 360 cm / 360 JH
3. 306 cm / 306 T

4.30.6 cm /30.6 94t

Correct Answer :-
« 306 cm/ 306 9T

57) A man loses one-third of his money, then wins Rs. 10,then loses one-third of what he has, wins Rs. 20., and finds that he has exactly what he
had in the beginning .What was the amount he originally had ? /

TP SEHT U LRI BT Uw-RieTE eR 9T 2, fhY 10 FUR Sadr 8, SUF 18 R & SUST U-fieTE R oT 2, 20 S Sidar 2, 39 SuF U S &
YFRIIRT & Rraet oy & Bt 9P URT g oFRIRT fobatt <2

1.Rs.12/ 1230
2. Rs.24 /24 30
3. Rs.48 /48 300

4. Rs.36 /36 300
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Correct Answer :-

« Rs.48/48 30

58) If the angles of a triangle are in the ratio 2: 3: 4, then the difference between the smallest and the largest angle is. /

Tfe YT F 0T BT AFUTE 2: 3: 4 B, A T B 3R TIA TS IV & oI BT SfaR 1 B

600

Correct Answer :-
400

59) If a regular hexagon is having side of 12 cm, then its area is: /

Ife T W Ty @t Y= 12 A 8, o) 30HT &A% 8:

156V2
256v2
216v3
129V3

Correct Answer :-

60)
Which one of the following expressions is false? /

Frafafad # § SI9-91 e Tod 82

a)9999 <1000

b)1052<1025

€)958765>957865
1.Bothaand b/aTdb gl
2. Only b/ Fad b

3. Bothb andc/b@'lc?ffﬁ

4. Only a/®ddda

Correct Answer :-

« Bothaand b/aTdbgHr
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